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QUESTION 1

An ATM PVC is configured as atm pvc 1 0 101 aal5snap 256 128 100. Which three statements describe the traffic

management characteristics of this interface? (Choose three.)
A. The burst size is 128 cells.

B. The burst size is 100 cells.

C. This is a real-time variable service.

D. The peak rate is 256K bits per second.

E. This is a non-real-time variable service.

Correct Answer: BDE

QUESTION 2

Which two statements are correct regarding MPLS LSP establishment methods? (Choose two.)

A. LDP uses Down Stream On Demand.
B. RSVP uses Down Stream On Demand.
C. LDP uses Down Stream Unsolicited.
D. RSVP uses Down Stream Unsolicited.

Correct Answer: BC

QUESTION 3

Which message type is used to initiate an RSVP-TE label switched path?
A. path

B. resv

C. setup

D. session

Correct Answer: A

QUESTION 4

Which CLI command disconnects all subscribers on an ATM PVC?
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A. clear port 4/3.99

B. logout port 4/3.99

C. clear subscriber port 4/3.99
D. logout subscriber port 4/3.99

Correct Answer: D

QUESTION 5

Once the TCP connection is established, which message type initiates the BGP peering process?
A. Open

B. Active

C. Update

D. Notification

Correct Answer: A
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